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1.  The chest numbers given to the children for the Recitation competition at

Muvattupuzha sub-district kalolsavam are from 4560 to 4780. Then calculate
the total number of children participated in the competition?

2.  The perimeter of a rectangle 1s 32 ecm. Then what will be the length and
breadth of another rectangle which is half the perimeter of the first rectangle.

(4,3\7,2\53)

3. Howmany squares are there in the picture below?

4.  ThelengthofMalamuri school ground is 50 meters and i1t lies close to a water
reservoir. The PTA decided to fence this part. They decided to build a wire
fence by placing stilts at an interval of one metre. How many stilts will it take
in total?

5. Which of the following1s not a square?
a) There are four sides.
b) There are four corners.



c) The opposites are equal.
d) Oppositesare not equal.

At Payipra Govt. UP School, The School Development Committee decided
to construct a walkway around the square ground which 1s 200 meters long
and 3 meters wide. The tiles and other materials needed for this were
provided free of charge. The development committee raised Rs 9500 for
labour. 4 people worked for 3 days and they charged Rs 700 per day.

a) What 1s the total perimeter of the sidewalk?
b) What is the amount spent on labour?

c) What 1s the balance amount left with the Development Committee
after paying the wages?
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1. The perimeter of a triangle is 85 cm. Its sides are 25 cm and 35 cm
long. What is the length of the third side?

2. If a square with side 4 cm is removed from a rectangle

having a perimeter of 60 cm, then find the perimeter of the
remaining portion?

4cm

3. lam asquare.
My perimeteris 32 cm
What will be the perimeter if my sides are doubled?

4. How many triangles are there in this picture?




Ramu decided to fence his land. It costs Rs.10 to fence one meter.
If Ramu's land is 50.m long and 40.m wide then what will be the
total cost?

Babu had a total balance of Rs.4765 in his bank account at the end
of August. He deposited Rs.3047 on 5/9/2020 and Rs.3540 on
10/10/2020. He withdrew Rs.1432 on 16/9/2020 and Rs.2464 on

16/10/2020.
List the above details and find the balance amount in his bank

account at the end of October.
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1. 4780 - 4560= 220

@R IGMIS 1 dhySydh = 221

(Add 1 to 220)
2. 53
3. 30af)emo

4. 51 &HOeRHU
(51 stilts)

5. d)af)@1d UesBd ORel(ng).

d) Opposites are not equal.

6. a)406
b) 8400
¢) 1100
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1. 2Scm
2. 60cm
3. 64cm
4. 9 (@®]EHIMEBRG
(9 Triangles)
5. 180X 10=1800 m&n_l
(Rs. 1800/
6.
o) Date | MedMalla] @& |aflduallgjoyd| enudes )/
Amount Deposited Amount Withdrawn | Balance
@fgmg}‘f /August|  -————— |  TTTTTT 4765
5/9/2020 3047 | 0 —-- 7812
16/9/2020 |  -—- 1432 6380
10/10/2020 3540 | T 9920
16/10/2020 | —mmeeeeee- 2464 7456

enIDO6) | = 7456

Balance= 7456
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1.  Which of the following statement is incorrect in measuring the
perimeter of a square?

a) Increase the dimensions of all four sides.
b) Multiply the length of these sides by 4.

c) Add length and width and multiply it by 2.
d) Double the length and width.

2. Ifyou cut a corner of a rectangular piece of paper, how many
sides will the paper have now?

3. Different squares can be made using 18 cm long thread wire.

Which of the following is not a standard size?
[54/62/81/7,2]

4. Anu made a rectangle with matchsticks. The rectangle was 11
matchsticks long and 8 matchsticks wide. If the length of one
matchstick is 2 cm, what is the perimeter of that rectangle?

5.  How many squares with 2cm sides can be cut from a rectangle
2cm wide and 18cm long?

6. Pineappleis grown on two floors on a hillside. The area under
cultivation on the first floor is 55 m long and 18 m wide.
The Perimeter of the second floor is three times the Perimeter
of the first floor.



b)

a) Whatis the difference between the perimeters of the farm in
two floors?

If 195 pineapple plants are grown in the second floor farm,
how many pineapple Plants will be planted in the first floor
farm?
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1. How many rectangles are there in the picture in total?
[8, 11, 10, 9]

2.  Ammu has a 72 cm long wire. How many squares with a
side of 9 cm can be made from it?

3. Name the geometric shape without sides and corners?
4. The perimeter of a square is 3 times the perimeter of a
rectangle which is 6 cm long and 4 cm wide. What is the

length of sides of the square?

5. What is the perimeter of the remaining shape, if we cut a
3 cm side square from the paper given below?



30 CM

[20CM

Ramapuram Govt. UP School bought 36 meters of wire to
fence the garden. The garden is 12 m long and 8 m wide.
1meter barbed wire costs Rs 15 and a concrete foot costs
Rs200.

a) Is the purchased wire sufficient for fencing? If not
how many meters of wire is required to complete?

b) If concrete foots are placed at 2 m intervals, how
many concrete foots will be required?

c) What is the total cost of concrete foots and barbed
wire?
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1. b)ED QUWEBREOS MIGOOD 4OBIMNE (N6 186 .

b) Multiply the length of these sides by 4.
2. 5QU0eBRUd

5 sides
3. 6,2
4. 76cm
5. 9
6. a) MO MSINeN 2ROENT =(55+18)x2 =146

@820 MSIMOO 2ROENT =146 x 3 =438
QU@ (OMo =438-146 = 292

Perimeter of first floor =(55+18)x2 =146

Perimeter of second floor =146 x3=438
Difference =438-146 = 292

b) &mdo ®31eal 00aImIa{lgIMe0 af)epo =195 +3 =65
(MBI & \HIWIsOOm 66alMIa(lglmen 3@ &)
@200 )

Number of pineapples in the firstfloor =195 +3 =65
(1/3 of the second floor.)
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1. 10
2. 2UR2lm6330d (2 squares)
3. QUy©Oo(circle)

4. 15cm

5. 106 cm

(21O 10M 2RO8AD® 100@ MM @0 1e] @dglw
MA210REOD 100] UROD oM GEEAD® 3 cm &0
QW B BDYo  CRHHOM 3 UROM 00} GEEAII® 9
OO 1GMIS B33 ®0 6.21QJMM).)

(Subtract 3cm from 100cm. 3=side of the square, cut away
from rectangle.100=perimeter of the rectangle.)

100-3=97. Then add 9 to this. (9 is the total length of
the other three sides of the square)

6. a Olaly) 438103 &S] ealemo

(Not sufficient, 4m required)

b) 20 ccﬁaaenb(cﬁ;’]g’ IR UDd (20 concrete foots)

¢) GBIM(BIQ &I 200 x 20 = 4000



)88 HMI =40x 15=600
@O = 4000+ 600=4600 ®Jal
(Concrete foots=200 x 20 =4000

Barbed wire = 40x15=600

Total = 4000+ 600 = Rs. 4600 /-)
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1. Why does the cotyledons shrink and decrease in size as the plant
grows?
a) The cotyledons does not get sufficient sunlight.

b) It shrinks due to the extreme heat.

c) The plant uses the food in the cotyledons.

d) The leaves of the plant grows.

2. Which type of plants do not develop organs like root, stem and leaf?
a) algae

b) bryophytes

c) pteridophytes

d) angiosperms

3) What is the thick leaf-like part seen in the plumule of the germinating pea
seed?

4) Which part of the plant comes first out of the seed to form the root?
5) What is the first stage in the germination of a seed?

6)Rasiya did a project based on plants.Help her to complete the table.



Plant Root system Venation Cotyledon Features of
stem
Sugarcane Fibrous root
Mango tree Reticulate
venation
Teak tree Inner part is
harder
compared to
outer part
Coconut tree
Jack fruit tree | Tap root dicots
Arecanut palm
Bamboo plant Parallel
venation
Hibiscus
Paddy plant monocots
Cashew tree

b) Prepare your inferences based on the data collected above.



ald® ail3§oBJMV Aldsad. WWQ” ag)0eMIG:Bo.

LSS 2021

UNIVERSAL SCHOLARS

D19 EVS WS 12

1. Which of the following statement is not true about parallel venation?

a) We can easily tear the leaf.

b) Vein starting from the leaf stalk grows towards the tip .

c) There is a main vein. From this the parallel venation grows towards the sides or
the center.

d) Many small branches arise from the main vein.

2) Find the odd one out:

Coconut tree, Jackfruit tree, Paddy, Sugarcane

3) Which plant has the largest leaf?

4)Name the process of food preparation in plants.

5) Name the green pigment present in the leaves.

6) On the way to school Rasiya collected different types of leaves.

On that day Seema teacher taught about leaves. The teacher asked them to
classify the leaves.

The leaves of the following trees were collected by Rasiya:

Mango tree, grass, cashew tree, bamboo, jack fruit tree, tarmarind, paddy ,teak,
Sugar cane,turmeric, Hisbiscus and banana.a)Classify these leaves:



b)Write the features of the leaves in each group.
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1. NNRaI@OMINHEI BRYa0IVo §alS] DalGWIWTSSBAN@ IMIGI.
2. BRYDIOU.
3. nflRal@o
4. enflxpelo.
5. Allom” &®1BAN” 2 JOGNIG HIIZAM.
6. a) algld oJdomIIBsN.
b) Mwamesyd :

* ag®HMfRaI@AVIVIEESOS GAIGBSUE MIT GAIO alSLINjo MEIGHU3BEH MVAITNE

avleoallmyoavaje @RWIGIes3..

* 3llenfRal@ VaVLEEBSIG3 GAIM alSLlo MIW’ GAIMAISLINJe MLIGhUIH 2R0Lild:)

avleoallmdavaje GRWIG1Es3..

*aBHmilRal(@® TVAVIERBNS HAMLONINHA ajOo BINTNIM” OUBRINETMBHIU

OODERYM HGajo SGMEIE.

* allnflRal@ MVIVYEBSOS &H0aMLOM NG DUBRINOM MM ®HGalo SIMEIBB®).
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202160 avledallmyoavoe

* elngled A1e1eam1dud ¢aldnel AUlee:0d afllm yaulaflelesamn

* DEeInUd af)Bo O3 &100M HYlwlel

* @Jwom avle 9ms’.
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1.c) The plant uses the food in the cotyledons.

2. a) algae

3) radicle

4) plumule

5) The seeds get soaked and the outer shell breaks.

6)a)Complete the table

b) Monocots have fibrous root and parallel venation.

Dicots have tap root and reticulate venation.

In monocots the outer portion of the stem is harder than the inner portion.

In dicots the inner portion of the stem is harder than the outer portion.
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1. d) Many small branches arise from the main vein.
2) Jackfruit tree
3) Victoria Regia
4) photosynthesis
5) chlorophyll
6) Parallel venation/Reticulate venation
Parallel venation:
1. The veins are parallel.(paddy, bamboo)
2. We can easily tear the leaves.
3. Has a main vein. From this side veins grows parallel to the tip or sides.
(banana, ginger,turmeric)
Reticulate venation:
1. Veins like a network.
2. We cannot easily tear the leaves.
3. Has a main vein.
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1) Which of the following is not an adaptation of the
tortoise?

a) webbed feet

b) head can be pulled back into the shell

c) boat —like shaped body

d) can remain under water without breathing for a
long period

2)There is a mutual relationship between biotic and
abiotic factors.

Select the incorrect statement of the following.

a) More organic matter can be found where plants
grow well.

b) The destruction of any factors of the ecosystem
will affect the ecosystem adversely.

c)The levelling of fields and ponds and -cutting
down of trees help in the sustainable development
of our country.

d) Plants help in breaking down of rocks to form
soil.



3. What do we call the particular place where biotic
and abiotic factors are mutually dependent?

4.What is the source of energy on earth?

5.The creatures that complete its life cycle both in
water and on land are called

6. a) Classify the following based on their habitat:

frog, blue whale, elephant, tortoise, rabbit,
crocodile, duck, prawns, mongoose, crab, nute,
camel, dolphin, salamander, starfish, shark,
hornbill.

b) What are the adaptations of organism that live
both on land and water?
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1) Which of the following is not true about forests?
a. Forest is an ecosystem.

b. Extinction of animals is due to deforestation.

c. Deforestation does not reduce rainfall.

d. Forests play an important role in soll
conservation.

2) Where do plants grow well?
a.top soil
b.bottom soill
C.swamps
d.Sand
3) Which of the following is a wrong statement?
a.Frogs can live both on land and in water.
b.Frogs have long hind legs.
c.Frogs have cinna.
d.Frogs are egg laying animals.



4) Which natural disaster is a threat to people
staying on hilltops and hilly areas?

5) What are the factors that help in the formation of
the topsoil?

6) A group of students and teachers went on a field
trip to a sacred groove(kavu). A few of their
observations are given below:
Soil, grass, butterfly, snake, frog, bushes, stones,
monkey, rocks, dewdrops, climbers, grasshoppers,
eagle, air.
a.Classify them into factors essential for
sustaining this ecosystem.

b.Write a note on the mutual dependence of
these factors.
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Answer key

1c) boat —like shaped body

2) c)The levelling of fields and ponds and cutting
down of trees help in the sustainable development of
our country.

3. Ecosystem

4.5un

5.Amphibians

6.live in water/ live on land/ live both on land and In
water

b) adaptations of body parts for
. Movement on land and in water
. Breathing organs etc
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Answer key

1) Deforestation does not reduce rainfall.

2) top soil
3)Frogs have cinna.

4) landslide
5) excreta of animals, remains of decayed plants
6) a. biotic and abiotic factors

b.Explains the mutual dependence of these factors.



